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6.

(b) Explain the following term :

(c)

Attempt any two part of the following :

(a)

(b)

(c)

(1)  Cost based pricing

(i1) Marginal cost pricing

(iii) Penetration pricing

(iv) Price slimming

(v} Penetration pricing

Explain how price determinal can be done in
market period?

5x2=10

Explain gross profit and net profits and
differentiate them.

Enumerate the elements of profit plannings and
steps involved in profit planning.

Explain break even analysis with a suitable
example and also explain why it is necessary for
a firm?
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Note :— Attempt all questions.
SECTION-A

1. Attempt all parts of the following : 8x1=8
(a) Define Economics.
(b) Enumerate the basis of cost classification.
(¢) Explaintheterm:
(i) Longrun
(i) Shortrun
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